
A  B r a n d  o f  S u r k o n  I n t e r n a t i o n a l

Part No Description Quantity

SP30LP00 SEAL KIT [3,5,6,7] 1

SP30LP01 BODY ASSEMBLY 1

SP30LP02 SCREW 1

SP30LP04 PISTON ROD ASSEMBLY 1

SP30LP08 END CAP 1

SP30LP09 SCREW 2

SP30LP10 SCREW 8

SP30LP11 ROD END 1

SP30LP12.2 FIXED UPPER PIN 1

SP30LP14 RETAINING RING 2

SP30LP15 SCREW WITH SPRING 1

Part No Description Quantity

SP30LP16 SHORT LINK PIN 1

SP30LP17 RING 1

SP30LP18 SWIVEL ASSEMBLY 360° 1

SP30LP18a SWIVEL ASSEMBLY 180°/360° 1

SP30LP19 1/4'' NPT SCREW TYPE OUTER THREAD 
NIPPLE

1

SP30LP20 1/4'' NPT SCREW TYPE OUTER THREAD 
BODY

1

30 LOW

H y d r a u l i c  T o r q u e  W r e n c h e s

info@torc-tech.comwww.torc-tech.com IS
O

 9
00

1:
20

15
DS

:L
O

W
-S

P1
22

4-
EN

Power Head Spare Parts List



IS
O

 9
00

1:
20

15

30 LOW
H y d r a u l i c  T o r q u e  W r e n c h e s

Cassette Spare Parts List

A  B r a n d  o f  S u r k o n  I n t e r n a t i o n a l

Part No Description Quantity

SP30LC01.1 RIGHT SIDE PLATE 
[85-90-95-100-105-110-115]

1

SP30LC02 BRASS BUSHING 2

SP30LC03 LEFT DRIVE PLATE 
[85-90-95-100-105-110-115]

1

SP30LC04 REACTION BLOCK EXTENSION  1

SP30LC05 HEX RATCHET 
[85-90-95-100-105-110-115]

1

SP30LC06 RIGHT DRIVE PLATE 
[85-90-95-100-105-110-115]

1

SP30LC07.1 LEFT SIDE PLATE 
[85-90-95-100-105-110-115]

1

SP30LC08 SCREW M16x40 4

Part No Description Quantity

SP30LC09 SCREW M8x20 2

SP30LC10.1 TOP SPACER 1

SP30LC11 ROLL PIN 1

SP30LC12 DRIVE PIN 1

SP30LC13 DRIVE PIN 2

SP30LC14 DRIVE PIN SPRING 1

SP30LC15 SECONDARY DRIVE PAWL 1

SP30LC16 SPRING RING 1

SP30LC17 TENSION SPRING 1

SP30LC18 PRIMARY DRIVE PAWL 1

SP30LC19 SPRING SPACER 1

SP30LC20 TENSION SPRING 1

DS
:L

O
W

-S
P1

22
4-

EN

Part No Description Quantity

SP30LC21.1 ROLL PIN 1

SP30LC22 SPACER 2

SP30LC23.1 REACTION PAWL 
[85-90-95-100-105-110-115]

1

SP30LC24 SHROUD 
[85-90-95-100-105-110-115]

1

SP30LCERA LONG REACTION ARM 1

SP30LCPAD SHORT REACTION ARM 1

PD
F
文
件
使
用

 "
pd

fF
ac

to
ry

 P
ro

" 
试
用
版
本
创
建

w
w
w
.
f
i
n
e
p
r
i
n
t
.
c
n

info@torc-tech.comwww.torc-tech.com


